Accelerated Geometry CC Name: KE\{

Factoring Test Review Date: Period:
**Look over everything you have!**

Determine whether each trinomial is a perfect square. If so, factor it.

If not, explain why.

1. 16x +72x+81

zmx ™/ — W+ )\

2 x —14x 49

7_bc"+ W2 but “'P\L las+ Yerm cannot be M%a’nv& Not o PST
3 x —2x+__’]_

zu-n\l — (x-— LY
4. x°+16x° +64

Z(i/¢ ) — (P+8)

5. The area of a rectangular frame for Ken’s artwork is & *==— = TV A O T
given by (25x2 — 20x + 4) cm2. The dimensions of the O~ 26 = 25X " = 20 x +4 — ps
frame are of the form cx + d, where ¢ and d are whole L S X — 2 52
numbers. Find an expression for the perimeter of the Sid e
frame. Find the perimeter when x = 13 cm.

=Uside —ul5x-2) =[20x-2|-=5[x=13, P=252cm)
—_—— I

P

Determine whether each binomial is the difference of perfect squares.
If so, factor it. If not, explain why.

6. 9% — 121

4es, B%—ll\(&grlﬂ
7. 49—t6

yes, (=" F ¢ )
8. d°-25

NO, do‘ 1S not a pf_v(—'acj- Squqve.,\
9. 16p* - 100¢? v
%4eS, Up"+ IOQG(Pl- lmﬁ

10. x“y10 +324

N0, cannot have the sum of oo Squares .'

Factor Completely:

11. 6x% + 24x 13.x2—11x+18—vx1—‘1><-2><+l%
(< + 1) |
x \x+ 4.} =x(x-9)-2(x-9)
:Kx-—%ﬁ(&—-xﬁ
12~3X2+14X+8%3x2'+12x+2)(-|—9> 14. -5x% + 9x + 2

2 2
= 3x (x+V) +2(x +y) =52 -2)=5x " jox+1x -2
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L - 2 == (x-D)Bx+)]
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15.6d% + 17d + 7

z 21. What value of b would make
lod t3d +1Hd +F . 16x % — bx + 25 a perfect square trinomial?
3d (2«1 )+ (24 +1) J {
Ux . Ux 5.5
LM+\3(3A{—?—}
16. x2—2x— 15 2(4x -5 =[ox |
Wi 3x —5X 15 -
X(\+3\-—S(x+3ﬁ 22[n?-3n 8n—2ﬂ
[ (x+3)(x-5)) n(n-3)¢e(n-3)
17. X -1 (n-2)(N+2)

(x'l:_ \xtxl.‘f' ( )

G e o |

—(3x%-5x +lox — 10)

X 18.i2+11b—42 | 3x (x+2)=s(x+2)
b °—3b + 4 ~Y42
— (x+2)3x-5)
b(b-2) ¢4 (b-3) l
(b',B b+lu 24.12x* - 8x - 15
-2 d 2x*—(gx + 10X —I5
l, <} +
19. n* + 50n + 25 \)
NOT bx(2x-3)+5(2x-3)
Factovalble ! r(’lx—B\(lox-l-SW\
25. Which of the following is a perfect
20. 130x? +125x -120 Cz%uare trinomial?
-5 . ' x2+10x + 25 C) x %+ 10x+ 20
LLDX 25’(*2"‘\ B) x?+5x + 10 D) x 2+ 10x + 50
bx* —9Ax - l.x +2Y4

3x (2x-3) -8 (2x -3)
[C5(2x-2) Gx-2)|




